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Chemistry 12
Chemistry 11 Review

1. Calculate the molar mass of each of the following:

a) NO m
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b) Al(S04) (2x27,o‘) « (3% 52.1) + CIZ x1b.0)
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2. Calculate the mass of the following:
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b) 0.0125 mol of XeF;
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3. Calculate the number of moles in the following:

1.35375 = 2354

a) 17.0 g of H2S04
n%/x /‘@ 0. 17324 :(0.173,%(1

98. |

b) JH1.5g of H.0
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4. The equation for the reaction of aluminum metal with fluorine gas is:

Al + F, > AlF;
a) What is the balanced chemical equation?

ZA\ . BFZ - ZL\\F5

b) If116.1 g of Al reacts, how much ntass of the produc} is made?
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5. A sample of potassium chloride has 84.0% purity. If 39.8 g of this sample reacts with excess
broﬂ::i-n:@as, whatvolume of chlorine gas could be produced undnditions? Begin by
writing a balanced chemical equation.
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% 6. Whire reacts with.silver nitrate in 1.25 L of a 0.150M solution?
@AgNOg - Ni(NO3)2 + 2 Ag
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7. Consider a solution contain 5.12g of CuSO4 in 250.0 mL of solution.

a) Whatis the mol .ar concentration pf the solution?

M/Z‘- M s g ﬁ (mot) 1000+t 0.108 o) Jo. 2o |
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b) If 150.0 mL of water was added to the above solution, what would be the resultin@
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